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(A) 240 (B)320 (C)325
(D)340 (E) 275

Ten students are planning to go on a picnic. If five 
more students have gone total expenditure would 
have increased by 1000 Rs. but per head average 
expenditure would decreased by Rs. 80. Find per 
head expenditure if 20 students have gone for 
picnic.
दस छात्र पिकनिक िर जािे की योजिा बिा रहे 
हैं। यदद िााँच और पिद्यार्थी चले जाते तो कुल व्यय 
में 1000 रुिये की िदृ्धि होती लेककि प्रनत व्यक्तत 
औसत व्यय में 80 रुिये की कमी होती यदद 20 
छात्र पिकनिक िर गए हैं तो प्रनत व्यक्तत व्यय 
ज्ञात कीक्जए।
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(A) 15000 (B)20000 (C)12500
(D)15600 (E) None of these

A shopkeeper get a profit of 30% by selling a 
watch. If the shopkeeper buy the watch at 10% 
less than its price and sells it at 10% less than its 
selling price. The difference in the profit he makes 
is 432 Rs. Find the cost price of the watch ?
एक दकुािदार को एक घडी बेचिे िर 30% का
लाभ प्राप्त होता है। यदद दकुािदार घडी को उसके 
मलू्य से 10% कम िर खरीदता है और उसे उसके 
पिक्रय मलू्य से 10% कम िर बेचता है। उसके 
द्िारा अक्जित लाभ का अतंर 432 रु है, घडी का 
क्रय मलू्य ज्ञात कीक्जए?
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(A) 11.40A.M. (B)10.20A.M. (C)11.20A.M.
(D)10.40A.M. (E) None of these

A person leaves a place P to place Q at 8 a.m. and 
reaches place Q at 12 p.m. Another person leaves 
Q at 09:30 am. and reaches P at 01 pm. They will 
meet each other at
एक व्यक्तत स्र्थाि P से Q को स्र्थाि देिे के ललए 
प्रातः 8 बजे छोडता है और स्र्थाि Q िर अिराह्ि 
12 बजे िहुाँचता है। एक अन्य व्यक्तत Q को सबुह 
09:30 बजे छोडता है। और दोिहर 01 बजे P िर
िहुाँचता है। िे एक दसूरे से लमलेंगे
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(A) 15 (B)8 (C)12
(D)9 (E) None of these

3 men and 5 women can do a piece of work in 15 days 
whereas 3women and 5 men can complete the same work in 
10 days. Find in how many days 4 man and 4 women 
together can complete this work ?

3 िुरुष और 5 मदहलाएं एक काम को 15 ददिों में कर सकते 
हैं जबकक 3 मदहलाएं और 5 िुरुष उसी काम को 10 ददिों में 
िूरा कर सकते हैं. ज्ञात कीक्जए कक 4 िुरुष और 4 मदहलाएाँ 
लमलकर इस कायि को ककतिे ददिों में िूरा कर सकते हैं?
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(A) 3:1 (B)2:1 (C)3:2
(D)2:3 (E) None of these

In box A ratio of milk and water is 3 : 1 and in box 
B ratio of milk and water is 3 : 5. When both box 
are mixed together ratio of milk and water 
becomes 5 : 3. Find the ratio of volume of box A 
and box B respectively.
बॉतस A में दिू और िािी का अिुिात 3: 1 है और 
बॉतस B में दिू और िािी का अिुिात 3: 5 है। जब 
दोिों बॉतस को एक सार्थ लमलाया जाता है तो दिू 
और िािी का अिुिात 5: 3 हो जाता है।क्रमशः 
बॉतस A और बॉतस B के आयति का अिुिात ज्ञात 
कीक्जए।
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(A)11154 (B)11145 (C)11155 (D)11455 (E) None of these

What value should come in the place of question mark(?)in the following questions?

624 ÷ 6 × 102 + 2401 ÷ 7 = ?
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(A) 6239 (B)6229 (C)6249 (D)6293 (E) None of these

What value should come in the place of question mark(?)in the following questions?

1296 + 57² + 2421 − 2211 ÷ ³√27 = ?
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(A)260 (B) −520 (C) 0 (D)520 (E) None of these

What value should come in the place of question mark(?)in the following questions?

17 × 13 + 543 − 32² − 260 = ?
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(A)10 (B)100 (C)121 (D) 11 (E) None of these

What value should come in the place of question mark(?)in the following questions?

³√15625 + √2601 + 20% of 120 = ?²
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(A) 9 (B)13 (C)12 (D)11 (E) None of these

What value should come in the place of question mark(?)in the following questions?

√2401 ×√676 ÷√9604 = ?
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(A)9 (B) 64 (C)512 (D)8 (E) None of these

What value should come in the place of question mark(?)in the following questions?

36× 48 −46 × 33 +372 = ?³
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(A)1521 (B) 1501 (C)1581 (D)1681 (E)1541

What value  should come in the place of question mark(?)in the following questions.

49² − 29² + 11²  = 10² + ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)70010 (B)70020 (C)84634 (D)76007 (E)None of these

What value should come in the place of question mark(?)in the following questions?

54390 + 32405 + 21049 − 37824 = ?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 12336 (B)12313 (C)12116 (D) 11231 (E)None of these

What value should come in the place of question mark(?)in the following questions?

23³ + 1640 ÷ 8 − 16² = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2529 (B)2520 (C)2530 (D)2149 (E)None of these

What value should come in the place of question mark(?)in the following questions?

(√1024 + 228 ÷ 19 )² − 71= ?

E04613
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(A) 300 (B) 500 (C)800
(D)750 (E) None of these

A merchant has 800 kg of sugar, a part of which 

he sells at 20% profit and the rest at 16% profit. 

He gains 18.5% on the whole. Find the quantity 

sold at 16% profit ?

एक व्यािारी के िास 800 ककग्रा चीिी है, क्जसका 
एक भाग िह 20% लाभ िर तर्था शेष 16% लाभ 
िर बेचता है। उसे कुल लमलाकर 18.5 प्रनतशत का 
लाभ होता है। 16% लाभ िर बेची गई मात्रा ज्ञात 
कीक्जये?
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(A) 29.16 (B) 25.5 (C)39.16
(D)31.16 (E) None of these

A container contains 40 liters of milk. From this 

container 4 liters of milk was taken out and 

replaced by water. This process was repeated 

further two times. How much milk is now 

contained by the container?

एक कंटेिर में 40 लीटर दिू है। इस कंटेिर से 4 
लीटर दिू निकाला गया और उसके स्र्थाि िर िािी 
डाला गया। इस प्रकक्रया को आगे दो बार दोहराया 
गया। कंटेिर में अब ककतिा दिू है?
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(A) 1025 (B)2050 (C)4100
(D)3250 (E) 1850

The simple interest accrued on a sum of certain 

principal is Rs. 14400 in six years at rate of 12% 

per annum. What will be the compound interest 

on the same sum in two years at 5% per annum.

कुछ मलूिि की रालश िर अक्जित सािारण ब्याज 
रु. 14400 छह िषों में 12% प्रनत िषि की दर से। 
समाि रालश िर 5% प्रनतिषि की दर से दो िषों में 
चक्रिदृ्धि ब्याज ककतिा होगा?
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(A) 1080 (B)3500 (C)3780
(D)7000 (E) None of these

A can do 20% part of a work in 8 days, B works 

30% part of the same work in 12 days and C 

works 40% part of that work in 18 days. If B and 

C's 1-day wage difference is Rs 12, then what will 

be the wage of A on working 35 days?

A ककसी कायि का 20% भाग 8 ददिों में, B उसी कायि 
का 30% भाग 12 ददिों में तर्था C उस कायि का 
40% भाग 18 ददिों में कायि करता है। यदद B और 
C के 1 ददि के िेति का अंतर 12 रुिये है, तो 35 
ददि काम करिे िर A का िेति ककतिा होगा?
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(A) 15% (B)10% (C)20%
(D)25% (E) None of these

Manish bought 25 kg. sugar at Rs.32 per kg. and 

15 kg. of sugar at Rs.36 per kg. What profit % 

did he get when he mixed the two varieties 

together and sold it as Rs.40.20 per kg?

मिीष िे 25 ककलो खरीदा। चीिी 32 रुिये प्रनत 
ककलो। और 15 ककग्रा. चीिी का 36 रुिये प्रनत 
ककलो। जब उसिे दोिों ककस्मों को एक सार्थ 
लमलाया और इसे 40.20 रुिये प्रनत ककलो के दहसाब 
से बेचा तो उसे ककतिा लाभ% प्राप्त हुआ?
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